Answer Key of X Pbi (November)
I. 1.9 (faAst T

2.A(83 )
3.0 (w3 3 wig S § A g9 )
4.8 (fHaa3 3 8916 58)
5.7 (T H& 8T
6.8 (HA=-H'S)
I 1. HI=3T e
2.9 & e
3.99 58
4. &t
1. 1. € (Afanr-gfamm
2. € (I3 T g9
3. A (T3-2-fes)
IV.1. A (83 W)
29 (33
3.8 (g
V. 1. (fagsr T99)
2. €(FF-gT )
3.9 (Hg9, 8hd, fawas)

VI.WHC .- WHSHIJI, WHII, WHeUT, wiedE



VIL. 1. 3% § wErE a9

2. HI& e de I

3. T H'I&"

4, 39 feu 3 yer

5. =5g3 frimrer famrs J=

6. I9 Ha BF T3 IT
( T =Y WUE Wy FEEE)
VIIl. According to Pattern

IX . According to Pattern

X . Picture ( H=di® & Taed3)
(ST WUE WY fByEa)
XI. 1. 8( IBST &)
2. W ( GIFIAE D)
3. W ( o< fos filg)
4. 7 (1893 H)

5. W ( =T TH)



6. A. ( fog A 395 T Har &R I5)
XIl. 1. W ( UIH3H ©)
2. € ( U9HA™S)
3. ¥ ( A99)
4. 7 ( Sor =597
5. € ( widme & U3ah)
6. ¥ ( I8 &)
Xll. 1. fegar
2. HgIH I3 fiy 7t &
3. Hared
4. 1650 gud
5. ufad 15 fes

XIV, XV, XVI ( According to pattern)



